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) Second Semester B.A./B.Sc./B.Com. Degree Examinaﬁon, September 2023
| | _First Degree Programme under CBCSS

Language Course - English
EN 1212.1/EN 1211 .2/EN 1211.3 : ENGLISH GRAMMAR USAGE

AND WRITING
(Common for B.A./B.Sc./B.Com. & Career Group Re!ahﬁiéa) Courses)
(2019 Admission Onwards) '
" Time: 3 Hours ) o Max. Marks : 80

I.  Answer all questions, - each in a word ar a sentence
1. Bangalore is known as the technology hub of India. (ldentlfy the predloate)
-2 Who can question them? (Change into negative)

3. It is difficult for me to ——— - amid so much noise. (Use the ngh! form of
' “concentration”) .

4. Mohan is too clever to confess his guilt. (Use 'S0 ......... that')

5. How mnocent the rabbit !ooksl (Change into assertlve)

6. Thatthe geography of a country mﬂuences its history cannot be denied.
{Begin with “It”)

7. We should live where the climate is good (Identtfy the subordinate clause)
8. .The Pnncrpal looked at the students reproachfully (Identify the adverb)
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10.

1.

12.

13.

14.

15.

16.

Neither you nor we ——————— any doubt regarding the matter. (have/has)
We waste great deal Qf'the' water. (Insert or omit articles wherever necessary)

(10 x1 = 10 Marks)

An_swer any eight, each ina shdrt paragréph not 'exceeding 50 words.
Convert the f‘ollowin.g,‘ into a bpmpiex sentence :

(a) |called him but he did not answer.

(b) The man standing on the roof-top is my neighbour.

Convert the following into a simple'sentence :

(a) He bassed on the information and he was‘glad doing that.

(b) Though he studied hard he did not fare well in his examinations. -

Fill in with conjunctions -

(a) s that story true ——————false?
(b) The vase will break ———————— you drop it.
‘Change the voice :

{a) The rﬁanger will give you an address.

(b) All our suggestions have been turned down.

Add appropriate question tag ' - I
(a) Let's go for a walk, '

(b) They have no information as yet,

" Change in to comparative degree :

(a). Only a few other metals are as bright as gold.

(b) That was the best day of my life.
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17.

18.

19.

20.

21

22

Give the basic pattern of the sentences.
(a) The boy gave his sister a card.

(b) They painted the house grey.

Rearrange the jumbled words to form meaningful sentences :

(a) needslcivﬁizationlwitﬁlman’sfadvancement/have!of!increasedlthe- :
(b) published/ has/a/verse/book/he/of

Convert the sentences into piural form :

~ (a) The candidate knows a language.

(b) The woman slapped the mosquito off her arm and shook her head.

Rewrite the sentences using the adverbs provided :

(a) Heis better today. (much)

(b} She sings well. (enough)

Frame guestions to get the underlined words as answers :

(a) The monsoon starts in June.

(b) Ihave three brothers aﬁd' two siste.rs.

Add an appropriate interrogéti\(e pronoun :

(a) Of these two books, ———————— do you prefer?
(b) N is paying fér the tickets?

- (8 x 2 =16 Marks)
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1. Answer any six of the following as directed :

23.

24,

25,

() 1wishyou

Complete the sentences using the correct form of the tenses: -

‘Mr. George usually — (stay) in a hotel when he’

(come) to town, but this time he ——————— (plan) to stay with us. Our farﬁily

- {enjoy) his visit.

Fill in the blanks with suitable prepositions.

(a) My pan_anfs did not approve — —my action.

(b) The dog is always faithful ——————— his 'maste'r.

(c) The accident resultéd — thedeath of five men.

(d) Sheis fond —_ —ice c’reém.

(e) He'-infends to compete ——~— his brother in the car race.
() The ship is bound B England.

(g) The house is still ————— rgpair. |

(h) - The ship is I the way to éingapore. :

Complete using suitable modals.
(a) He ———— have been more careful.
(b) You — contact me if you' need fﬁrther details.

maintain silence here.

(d) They ————— respect their elders.
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26.

27.

28.

29.

30.

31

Complete using articles :

— - way in which 'we"write S Ianguage is not exactty
- same as —————— way in which we speak it.

foreign learner of —8 Engl:sh language may be able to read texts

abstruse for ——————— average English man and yet have difficulty in

understanding ————————— ordinary conversation.

Correct the following sentences :

(a) This is one of the best songs that have been com'posed by Raja.

(b) 1 congratulate you for ydur brilliant success.

(c) Shakespeare is the great_el_'cf English dramatists.

~(d) The gUard didn't barely touch the player.

Richard wants to be member of a public llbrary Construct a short dlalogue
between him and the librarian.

Split the sentences into two ;

(&) The boy who fell off his bicycle has hurt his leg.

' | (b) The task which you have to do is easy.

(c) Bring me the book that is lying on the table.

(d) The police having arrived, the mob disappeared.

Rewrite the foIIowing conversation in indirect speech :

“You'll get caught. You have to be very careful,” my friend said to me. “No, |
shan't,” | said. “I'm not going to run any risks."

Draft a quest|onna|re to be cwculated among the students of a college to assess
the relevance of co-education in colleges. .

(6 x 4 = 24 Marks)
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32.
33.

34.

35.

Answer any two of the follbwing :

Write a short essay on Disaster Management. :

You are the College magazine editor. Draft a report of the actuwﬁes of the
75" Independence Day celebrations conducted in your college

Construct a story from the given outline :

A king is distressed-his people are Iazy—he places a huge stone in the middle of
the road at night-next day many pass and go around it — a merchant-a soldier

“riding-an officer in a carriage-all curse the king-an old lady asks her son to move

the stone-a bag full of money-the people were ashamed

Expand the proverb: Every cloud has a silver Iining.

(2.x 15 = 30 Marks)
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Second Semester B.A.IB.S(;.IB.Com. Degree Examination, September 2023
" Career Related First Degree Programme under CBCSS
Lahguage Course Il — Additional Language — Malayalam
ML 1211.3 : qyoay@seiomoadimyo
(2021 Admission Onwards)
fime =3 Hburs - _ : L Max. Marks : 80
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10.

1.

12.

13,

14.

15.

18.
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AT
18,
19.
20.
21.

22

.

23
24,

25,

26.
27.
28.
- 29.

30.

- 3.
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32.
33.
34.

35.
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Second Semester B.Com. Degree Examination, September 2023
Career Reléted First egree Prograrﬁme Under CBCSS
Langitage Course — Additional Language - Hindi
HN 12‘i1.4 — HINDI NATAK, VYAVASAYIK LEKHAN AUR ANUVAD

' (2020 Admissions Onwards)
Time : 3 Hours _ o Max. Marks : 8.0
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1.
12
13,
14.
15.
16.
1
18.
19.
20.
21.

22.

23.
24,
25.
26.
27.

28
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29.
30.

31.

32.

- 33

35.

et o & AR e w7

ol 7wl =t i Frowm fe

e B gl g form s & FEn?
: (6 x 4 = 24 Marks)
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A poor man was put in jail although he had done no wrong. After a long time the
king of the state visited the jail and the man told him that he was an innocent
man against whom a case had been made up by the enemies. The king when
found this to be true gave the man a sum of money and set him free, The man
when straight to the market in which there was a shop where bulbuls and other
birds were kept in cages for sale. He said to the shopkeeper. | wish to buy all the
cages with birds that you have. Shopkeeper asked-why? Are you going to start
zoological garden? The man answered, no the birds have been unjustly -
prisoned, | am going to set them free, And he did so.

(Poor — fada, state — wsa, innocent — franw, enemies — w3, Market — ==
Zoological garden — fafeaer, cage — fism, unjustly — sm 1, prisoned — %)
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(faemi - district, 8 — Narrow, ar@él — Valley, e population) _
(2 x 15 = 30 Marks)
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Secbhd Semester B.’_Colm. Degree Examination, September 2023
First Degree Prbgramme under CBCSS

Foundation'Cburse'II : CX 1221/TT 1221/HM 1221(2014'Admission '
Onwards) and CO 1221/CC 1221(2014 - 2017 Admission)

INFORMATICS AND CYBER LAWS

, (Common for Commerce/Commerce and Tax Procedure and
Practice/Commerce and Tourism and Travel Management/Commerce and.
Hotel Management and Catering/Commerce with Computer Applications)

Time : 3 Hours . S Max. Marks : 80
'SECTION - A

Answer all questions in one word or to a maximum of two sentence each.
‘Each question cames‘l mark. o

1. Whatis h_ttp?
| 2. Define internet.
3. Whai do you mean by search engine? |
4. Whatis cyber spacé?
5. Whatis ISDS?

6. Whatis informatics?

P.T.O.



10.

~Answer any eight qu
carries 2 marks. '

11,
2
13.
14,
.
16.
17.
18.
19.
20.

21.

 Define e-waste.

What is DSL?
What is Spoofing? -

Deﬂne Computer piracy.

SECTION-B

What is knowledgé management?

Explain the édvantages of internet,
What is News group? |

Whatis DNS? -

Write about pri.mary memory of Computér.

What is Cybet; crime?

What is client — server relationship?

‘Explajn'about cyber addictions.
What is broad brand? |

What is Social networking?
What -is Cyber ethics?

What is NICNET?

(10x1=10 Marks)

estions in not exceeding one paragraphreach. Each guestion

(8 x 2=16 Marks)

R-3244



SECTION-C

Answer any six quéstions about 120 words each. Each question carries 4 marks.

23.
24,
25.
- 26.
o
28.
29.
30.

31,

What is search engine? What are its importance?

Write a note on Internet Security.

Explain the importénce of IT in education.

Explain the components of Green computing.

What are the main. .ou_tput devices of a computer?

What are the important Educational Softwares?

What are the featurés of IT Act?

Explain about cyber space.

What are the healfh issues felated to the use of computers?

- | (6 x 4 = 24 Marks)
 SECTION-D

Answer any two questions in not exceeding 4 pages each. Each question carries
15 marks. . ! ' :

32.
33
34.

35,

What is computer network? Explain its types. .
Explain the fea‘t_ures' of internet.
Explain the role of IT in business and comm_erée. '

Explain the different internet access methods. ‘
‘ - (2 x 15 = 30 Marks)
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Second Semester B.Com. begre_e 'Examinati.on, September'2023
Career Relét_ed- First Degree Programme under CBCSS
Group 2(5) — Commerce and Tax Procedure and Practice

| ‘Vocational Course |
CX 1271 : INCOME TAX LAW AND PRACTICE |
(2018 Admission Onwards)

Time : 3 Hours o Max. Marks : 80

SECTION - A

Answer all questions in one word to maximum two sentences. Each question carries

1 mark.

1. | ‘IIDeﬁne as-sessmenf year.

2. _Who is a ‘person’ as per Income Tax Act‘?_
3. Deﬁne Assessee in‘ Default.

4. What is,G.T§?

5. Define Income.

- P.T.0.



6. When a company said to be resident in India?

7. Mention any two exempted incomes.

8. What is transferred balance?
9. List any two taxable allowances.
10. What' are the deductions allowed from Annual Value? =~

| | (10 x 1 = 10 Marks)
SECTION - B '

AhSwer any eight quéstions in one paragraph. Eachrquestion' carries 2 marks.
11. Writej a short note on Féir Rent.

12. What are the five heads of income?

13. Define Prev'io'ué,- :'Yea.r.

14.. Define an AoP.

15. Who'is dee.med assessee?

16. What iks_casuai inoome';?

17, Whatis MMR?

18. Define deestic Company.

19, Who is a Deemed Resident?

2 . R-337




20 An assessee commences his business on:
(a) 1% July 2020
(b) 1% Octdber 2020

in each case, what will be hIS assessment year and what penod will be treated as
his prewous year for the concerned assessment year?

21. State whether the follpwing receipt is casual lnc_ome :

Mr X received Rs.5,000 for écting once as an arbitrétor without any stipulation '
as to remuneration. ' o

22. Whatis pefquisite?

) (8 x 2 = 16 Marks)
SECTION-C '

- Answer any six questions not exceeding 120 words. Each question carries 4 marks.

23. Explain the situations in which cases the assessee is liable to be assessed to tax
~ in the same year in which he eams the income..

24, Explain the residential status of companies.
25. What'are'fhe different forms of salary?
26. Who isa spemﬁed employee‘?

27. An employer has taken a house on rent @ Rs.7, 500 p.m. He: allotted the house
to Mr. A for residential purpose. The annual salary of Mr. A'is Rs 3 ,00,000. Find
out the value of rent-free house for Mr. A.

3 . ' R—3371



28.

29.

30.

31.

Mr. David, a foreigner, came to India from Switzerland for the first time on
1% April, 2014. He stayed here continuously for 3 years .and went to France on
1%t April, 2017. He, however, retumned to India on 1% July, 2017 and went to
Poland on 1% December, 2018. He again come back India on 25" January, 2021

- on a service in India.

~ What s his residential status for Assessment year 2021-2022.

Find out the taxable amount of house rent allowanoe of Mr. B. His basic pay

Rs. 14,000 p.m., dearness pay @ 10% of basic pay, commission based on fixed .

percentage of turnover Rs. 24,000 for the whole year. House rent allowance
Rs. 4,000 p.m., Actual rent paid the assessee Rs. 3,200 p.m., House situated at
Agra. .

Mr_. Bhagavath is gettirig a pension of Rs. 12,000 per month from a company. -

During the previous year he got his two-third pension commuted and received

Rs. 7, 38 000 Compute the exempted amount if he also ~received gratuity.

From the foiiowmg information compute the Annual value of the propertles for the

: assessment year 2021-2022:

. _ "Rs.
Fair rent 30,000
Municipal vaiue 25,000
Rentreceived 28,800
Municipal tax paid 2,500

SECTION — D

© Answer any two questions. Each questlon carries 15 marks

32.

33.

Name dlfferent kinds of provudent fund of which salarled employee may be a
member, and state the income tax provisions regarding each.

Under the income tax act some incomes are totally exempt from tax while some
incomes are partially exempt. Discuss the statement.

4 - R-3371
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34.

35,

From the following information compuie the taxable ‘Salaries’ of Shri Anand, who
is working as driver with a transport company at Sikkim for the Assessment Year
2021-2022: '

(a) Salary Rs.20,000 p.m.

~(b) Dearness Allowance Rs. 1,500 p.m.

(c) Bonus equal to one month’s pay

(d) Remote locality allowance Rs.1,500 p.m.

(e) Allowance to meet his personal expenses while on duty Rs.3,000 p.m. =

(fy Children education allowance Rs.195 p.m. (For three children @ Rs.65 p.m.
per child). ' ‘ '

(g) One son of Shri Anand lives in a hostel for studies and the employer péys
" Rs. 400 p.m. to meet hostel expenditure '

(h) Entertainment allowance Rs. 450 p.m.

Mr. X is the owner of a hduse at Agra, particulars in resp'ect of which for the year
ended 31 March, 2021 are as below: '

Rs.

(a) Actual rent received 4,500
(b) Municipal value | 4,200
(c) Total municipal tax _' ) 630

5 R - 3371



Rs.

(d) Municipal tax paid by Mr. X I 7 s 420
(e) Municipal tax paid by the tenant I . 21Q !
() Interest on loan taken for renewing the house _ ' 150 o

(9) Unrealrzed rent allowed |n the assessment year 2017 2018 mred
~ during the year2000 ' _ '

Compute Mr. Xs income from house property for the assessment war
2021-2022. : : ‘ S

(2 x 15 = 30 Marks)
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Second Semest_er_‘B..Coml. D’egree Exa‘m.ination, September 2023
First Degree Programme under CBCSS
S ' o , Core Course | _ _
CO 1241/CX 1241/TT 1241/HM 1241/CC 1242 : FINANCIAL ACCOUNTING
| (2018 Admission Onwards)

Time : 3 Hours ' - ' - Max. Marks : 80
SECTION—-A

. Answer éll questions in one or twd sentences. Eacﬁ question carries 1 mark._
1. St_ate Goﬁservatism Concept in accounting.

2. What is a nominal accoUnt? _ |

'3.‘ What do you understand by the term Depletion?

4 What is Annuity Method of depreciation?

5 What is Hire Purchase system?

6. .What is primage’?

7. What is Address commission?

8. How bonus shares received recorded in investment account?

P.T.O.



9.

10.

What is Average Clause?

- Give examples for Standing Charg'es in a loss of proﬁt__poiicy.' '

: | (10 x 1 = 10 Marks)
 SECTION - B

Answer any eight questions in not exceeding one paragraph. Each question carries
2 marks. o = S

11.
| 12.
13;
14.
15.
16..

A7,

18.

19.

20.

Which are the basic principles of accoﬁnting‘?

How Materiaiity-_is determined in accounting?' |

What are OUTSTANDING EXPENSES?

‘What are the causes of depreciation?

What are the Obijective and Necessity for Providing Depreciati .

Write a note on Revaluation Method of depreciation.

On 1.1.2010 X purchase a plant from Y on hire purchase system. The hire

purchase rate was settled at Rs.60,000, payable as to Rs.15,000 on 1.1.2010
and Rs.15,000 at the end of three successive year. Interest was charged @5%
p.a. The asset was to be depreciated in the books of the purchaser at 10% p.a.
on Reducing Balance Method. Given the present value of an annuity of Rs.1 p.a.
@5% interest is Rs.2.7232. Ascertain the cash price. - ' ‘

A scent manufacturing company had a stock of 10,000 bottles valued at
Rs.25,000 on 1% Jan. During the year, the company purchased 50,000 bottles
@Rs.2.50 per bottle. At the close of the year 7,000 bottles were in the stock.

Write the Containers Stock Account. - - :

P Ltd. acquires 2000, 12% Debenture of T Ltd. on 1.4.2013 at Rs.105 Cum-
interest (face value of debentures Rs.100). Interest is paid on 30" June and 31*
December every year. Accounts are closed on 31% December 2013. Ascertain
the amount of interest and cost of debentures. :

Write the journal entry for Ex-Interest Purchases. -
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21. What is meant by standa;_fd“_tun?qver‘in a loss of profit policy?
22 How Dividend Received mmmd in investment accounts?

S _ (8x2= 16.Mark‘s)
SRR SECTION-C

~ Answer any six questions. Each question carries 4 marks.

23, State whether the'followingare capital, revenue or deferred revenue expenditure.

(a) Carriage of Rs.7,500 spent on machinery purchased and installed.

(b) Heavy advertising costs of Rs.20,000 spent on the launching of a company's

new product. (c) Rs.200 paid for servicing the company vehicle, including Rs.50

paid for changing the oil. (d) Construction of basement costing Rs.1,95,000 at
~ the factory premises. ' : ' ' ' ' :

24, S & Co. purchased é machine for Rs.1,00,000 Qn 1.1.2011. Another machine

costing Rs.1,50,000 was purchased on 17.2012. On 31.12.2013, the machine
purchased on 1.1.2011 was sold for Rs.50,000. The company provides
‘depreciation at 15% on Straight Line Method. The company closes its accounts
on 31% December every year. Prepare Provision for Depreciation Account.

- 25.  On 1.7.2009 W Ltd. purchased a machinery for Rs.1,10,000 and spent‘ Rs.6,000

" on its instaliation. The expected life of the machine is 4 years, at the end of
which the estimated scrap value will be Rs.16,000. Desiring to replace the
machine on the expiry of its life, the company establishes a Sinking Fund.
Investments are expected to realize 5% interest. On 30.06.2013, the machine
was sold off as scrap for Rs.18,000 and the investments were retained at 5%
less than the book value. On 1.7.2013, a new machine is installed at a cost of
Rs.1,25,000. Sinking Fund table shows that Rs.0.2320 invested each year will

- produce Rs.1 at the end of 4 years at 5%. Show the necessary sinking fund
‘account in the books of W Ltd. B - '

_ 26. Write a note on AS 6.

- 27. What are the dif_ferehces between lins_tall'ment sale and hire-purchase?
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28.

29.

Investors Ltd. held on 1.1.2013 Rs.60,000 of 12% Government securities (Tax
free) of Rs.100 each at Rs.56,500. On 1.6.2013, the company purchased a
further of Rs.40,000 of the Security at 96 % cum-interest, brokerage being 2 Yo.
On 31.7.2013, Rs.50,000 of security was sold at 94 % ex-interest, brokerage:
being 1/2 %. On 1.12.2013, Rs.20,000 of the security was again sold at Rs.96.
Interest on the security was paid each year on 31% March and 30" September

" and was credited by the bank on 3" April 4" October, respectively. The price of -
the security on 31.12.2013 was 96. Investors Ltd. closes its books on

31% December each year. Draw up the Investment Account in the books of
Investors Ltd. ‘

Mr.Shape dealt on the stock exchange and had purchased and sold leading

-scripts but did not maintain his accounts in a proper manner.- He furnished the

following data:

_Investmentﬂ on hand as at July 1, 2012

300-3% Conversion Loan 1982-84 of Rs.100 each purch'as_ed at Rs.60. |

250-Equity shares of Rs.10 each of Everlte Limited at Rs.18 per share.

1,000-9% Preference shares of Rs.100 each of Prosperous Limited at Rs.95.

Transactions during the year

Purchases:

750 Equity Shares of Rs.10 each of Everlite Ltd. at Rs.23,

250 Equity Shares of.Rs.-10 each of Small Limited at Rs.9.

125 Equity Shares of Rs.10 each of Bright Shipping Ltd. at Rs.12.
Sold o | |

1 Od-é% Conversion Loan 1982-84 at Rs.65.

100-9% Preference Shares of Prosperous Ltd. at Rs.99.

: InterestlDi\}idend Received
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3% Conversion Loan Interest Reoeived Rs. 900
9% Preference Shares of Prosperous Ltd. Rs.9, 000
 Everlite Ltd. - Dlvadend at 20 per cent on 1,000 shares Rs. 2 000.

Everlite Limited issued Bonus shares and Mr. Shape received 1,000 shares of the
Company as Bonus Shares.

YOU are required to show the investment Account in the Books of Mr.SHape.
30 How claim for Loss of Stock is computed?
31, Whatare considerations in computmg clalm under loss of profit policy?

(6 x 4 = 24 Marks)
SECTION -D

- Answer any two quest:ons Each questnon carries 15 marks

32. The followmg is the trial balance of Mr. Ramlal as at 31 Dec 2011

. Dr Cr
Ramlals capital ' --- 86,690
Stock as on 1% Jan 2011 46,800 —
Sales - 389,600
Return inwards | 8,600 _
Purchases . 3,221,700 -

- Return outwards - 5,800
Freight and cariage 18,600 —
Rent and taxes 5,700 —
Salaryandwages 9,300 -
Sundry debtors - 24,000 -
Sundry creditors — 14,800
Bank loan @ 6% p.a. . — 20,000 '

Bank interest . ' 900 —
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Dr

. Cr
Printing and. advertlsement 14,600 -
Misc Income - 250
Cash at bank. - 8,000 o~
Discountearned - 4,190
Furniture and fittings 5,000 e
Discount allowed 11,800 -een
General expenses 11,450 -
Insurance 1,300 —
Postage and teregram .- 2,330 -
Cash in hand , 380 ¢ S —
Travelling expenses - 870 —
Drawings h 40,000 : -

) R 521330 521330_’

The following. adjustment shouId also be made:

(@)
(b)

©
O

(e)
-

@

(h)

.Prowsron for bad and doubtful debts be created _
. discount 2% on sundry debtors. o

Included amongst the debtors is Rs.3,000 due from m and included
amongst creditors Rs.1,000 due to him. . '

Deprematron on furniture and fi ittings at 10% shall be :

Personal purchases amounting to Rs. 600 has hﬂ :m in the
purchase day book.

Interest on bank loan shall be provuded for the whole yui‘

A quarter of the amount of pnntlng and advemsmg is to bemhd fotward to
the next year.

Credit purchase |nv0|ce amounhng to Rs.400 had been omitted from the

“books.

Stock on 31-12-2011 was Rs.78,600

Prepare trading and profit and loss account for the year ended 31- 12 1987 and
balance sheet as on 31 Dec 2011. :
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33. P purchased a truck on hire. purchase system for Rs. 56,000 payment to be
mmade, Rs15,000 down and 3 instaliments of Rs.15,000 each at the end of each
year. Rate of interest is charged at 5% per annum. The buyer is depreciating the

~ asset at 10% p.a on written down value method. Because of financial difficulties,

B fP after having paid down payment and first installment at the end of the first year

" could not pay second installment and sellers took possession of the truck sellers

~ after expanding Rs. 357 on repairs of the asset sold it away for 30,110. Open
3 ‘ledger accounts in the_ books of both parties to record transactions.

34. Maharaja Shipping Co. Ltd. of Mumbai acquired a new ship at a cost of
Rs. 75,00,000. The ship was ready for service on 1%t January 2014. An insurance
policy was taken @ 2% per annum on the ship. Freight was insured at
Rs. 20,000 per annum. During 3 months ended 315" March 2014, the ship was
completed one round trip to Kolkata and was half through the second trip (single
way) to Kolkata. - .

The ship carried the following cargo:

To Kolkata — 18,000 tons @Rs.300 per ton

From Kolkata — 20,000 tons @ Rs.270 per ton
" To Kolkata — 24,000 tons @ Rs.250 per ton

" Commission @ 5% was paid to agents in addition to address commission @ 1%.
The other expenses were as follows: '

Salaries and wages of crew Rs.16,00,000
Fuel o - ~ Rs.8,00,000
Sundry stores S ‘ Rs.1,60,000
~ Port dues (Mumbai Rs.1 140,000, Kolkata Rs.1,00,000) Rs.2,40,000
" gtevedoring @Rs.20 per ton Rs.12,40,000

Share of _ov_erheads for the ship for the period Rs.5,00,000
Provide depreciation for the period @ 5% per anﬁurh.

o Pre'pafe' the consolidated voyage account for the period of three months ending
© 315 March 2014. : - _
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35. Mr. X's godown was destroyed by fire on 1.6.2013 when .t_he' goods in stock were
insured for Rs.60,000. The following particulars are given, :

Balance Sheet (Extract)
as at 31% December 2012

Liabilities | Amount Asset e ‘ Amount
. Rs. : _ ' - Rs.
Creditor for 20,000 Stock (including goods held by agent 36,000
~ goods ' - Rs.2,000) o ’
' o Debtors 70000
Transactions upto 31% May,.2013 include: _ o
Particulars ' Amount Particulars Amduni
_ ' ' Rs. ' Rs.
Cash Received from Debtors 3,40,000 Cash paid to Creditors ~ 2,20,000
Bad Debt written off 3,500 Discount Recew 1000 '
 Balance on 31.5.2013: | o - |
Debtors . - - 70,000
Creditors - 30,000

Additional information

(a) Debtors on 31.5.2013, included an amount owing from the agent fram sales

to date Rs.4,000 less 10% commission and his expenses Mng to

Rs.100 on 31.5.2013 — the agent still held the said goods valued at
Rs.3,600 (at selnng price)..

(b) Sales (total) for the periods include Rs.1,600 for goods: m have the
~ selling price reduced by 50% and also Rs.6,000 reduced by“.

_ (c) The normal mark up is 50% on cost and except the abover af du can be -
.assumed to be at the full seng price. '

(d) Al the goods were destroyed and there was no salvage vﬁul of the goods
Calculate the amount of claim. L
| . (2'x'ifs = 30 Marks)
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Second Semester B.Com. Degree Examination, September 2023
First Degree Programme un‘der CBCSS
| Complementary Course
CO 1231/CX 1231!CC 1231 : BUSINESS MATHEMATICS
o (2018 Admission Onwards)

Time : 3 Hours - ‘ ' * Max. Marks : 80
PART—A
Answer all questions. Each question carries 1 mark.

1. Find the inverse of the matrix:

A 23

35
2. SolQe: x-|'—'y =8 xy.=15
3. Solve: x* +2x-8=0.
) . e , .22

4. Convert the given fraction into mixed fraction: =
5. Ifthe arhount for 2 years at 6% is Rs. 4,000, what was the principal?
6. Find the value of % of 30.

P.T.O.



10.

Answer any eight questions. Each carries 2 marks.
11.

12.
13.
14,
15.
16.

17.

Name methods of depreciation.

‘Conver 0.416 into fraction.

Convert 2% into fraction.
Find two numbers whose sum is 30 and difference is 4.
(10 x 1= 10-Marks)

PART — B

Find the roots of the quadratic equation by factoring: 2x% +7x+3.

Find the compound amount, Wthh would be obtained from an m::f
Rs. 2, 000 at 6% compounded quarterly for 5 years.

Find the number of permutations of word ALLAHABAD.
Two third of a number increased by 3 equals 13. Find the number, =~ )

Represent in quadratic equation: The area of rectangular plot is 528 m2 M-
length of the plot (in meters) is one more than twice its breadth. We need to find
the length and breadth of the plot. :

An Engliéh test was cohduéted but of 80 marks. Vani scored 90%, Tanya scored
85% and Pranoy scored 82.5 %. How many marks did each one score?

Rudy will retire in 20 yea.'rs. This year he wants to fund an amount of Rs. 15,000'
to become available in 20 years. How much does he have to deposit into a
pension plan earning 7% annually?
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18,

19,

20.
- 21,

22.

23.

- 24.

26.

'LetA='[1 2 3}5: 5

Find two numbers whose sum is 30 and difference ié 4.
Solve

4x+2y =6
Gx+y=6

What is D'eterminant?.
Find the simple interest and amount for Rs. 25,000 at 10% p. a for 26 weeks.

The ages of Hari and Hani are in the ratio of 4:5. Eight years from now, the ratio
of their ages will be 5:6. Find their present age.

(8 x 2 = 16 Marks)

PART -C .

,Answer any six questions. Each carries. 4 marks.

A committee of 3 persons is to be constituted from a group of 2 men and

3 women In how many ways can this be done?

If the demand function for a commodity is given by the equatlon p® + 4q = 1600,
and the supply function is given by the equation 550 — p* + 2q = 0. Find the .

~ equilibrium quantlty and equilibrium pnce

Happy Harry has jUSt bought a scratch lottery ticket and won Rs.10,000. He
wants to finance the future study of his newly born daughter and invests this

“money in a fund with a maturity of 18 years offering a promising yearly return of

6%. What is the amount avaﬂable on the 18" birthday of his daughter?

o4 4 Compute AB.

[&; [ S 8
W N =
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27,

28.

29..

- 30.

31.

Mr. A borrowed Rs. 20,000!— from a person, but he could not repay any amount

“in a period of 4 years. So the lender demanded as 26,500. What is the rate of

interest charged? S

From the following particu'lars, calculate stock t_urnove'r ratio.

E Rs.
Opening stock 40,000
Purchases _ 1,20,0000
Carriage on purchases 10,000
Sales ~ 2,00,000
Closing Stock -30,000

Fixed costs for the year are Rs. 60,000. The sales for the panodare Rs. 4,00,000

- and variable costs are amounted to Rs. 3,00,000. Calculate BEP Sales.

A salesman gets commission on total sales at 11%. If the sale exceeds
Rs. 15,000 he gets an additional commission as bonus of 4% on the excess
sales over Rs. 15,000. If he gets total commission of Rs. 1,980, then what is the
bonus received? . o

Michael buys share of face value Rs. 50 of a company which pays 10% dividend.
At what price did he buy each share from the market if his profit is 16% on his
investment? - ' .

(6x4=24 Marks)

PART -D

Answer any two questions. Each carries 15 marks.

32. (a) From the following information, calculate Debtors Turnover Ratio and

~ average collection period in days.
Total Sales for the year = Rs.1,75,000

‘Cash Sales = . 20% of sales

20,000
s R - 3253
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‘Sundry Debtors:

)

Opening : Rs. 8,000
Closing : Rs. 12,000

From the following details _d-etérmine the value of debtors:

" Total sales = Rs.5,00,000

33. (a)

(b)

Cash sales = Rs. 2,00,000

Debtors velocity = 30 days

Bills Receivable = Rs. 5,000.

The trader has INR 10,000 to invest in the exchange-traded funds traded in
the. off shore market. However, the trader lives in India, and 1 INR

corresponds to 0.014 USD. Help the trader determine the value of INR
investment in terms of US currency. '

'A machine was purchased on January 1, 2011 .for Rs. 1,00,000 and its

useful life is 10 years. After completing its useful life the machine will be
scraped and nothing will be realized from it. It is decided to charge

~ depreciation on this machine @ 10% p. a. on Straight Line Method.

_Calculate amount of depreciation for each year during the useful life of this

machine

34. Calculate the BEP, Margin of Safety and. Sales required to earn a profit of
Rs. 5,000 from the following information: ' _

Rs.
Sales: 40,000
Fixed costs: 7,500

Direct Material: 20,000
Direct Labour: 6,000
Direct Expenses: 4,000
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35. (a) An individual planning a trip from the USA to European Union. He has

planned budget of USD 5,000. The travel agent informs the traveler that if

he exchanges US dollars to Euro, he will get Euro 4,517.30. Help the

traveler determine the exchange rate between the USA and the Euro.

~ (b) State the rules of differentiation. :
. ' (2 x 15 = 30 Marks)
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